

PLUS



mit Zehnerübergang

$$8 + 4 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$7 + 5 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$9 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$5 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$3 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$8 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$4 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$7 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$5 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$2 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

PLUS



mit Zehnerübergang

$$9 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$3 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$5 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$9 + 5 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$8 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$7 + 4 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$5 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$8 + 3 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$4 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$3 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

PLUS



mit Zehnerübergang

Rechne wie in der ersten Aufgabe:

$$3 + 9 = 3 + 7 + 2 = \underline{\quad}$$

$$8 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$9 + 5 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$7 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$4 + 7 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$9 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$5 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$8 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$7 + 5 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$2 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

PLUS



mit Zehnerübergang

Rechne wie in der ersten Aufgabe:

$$9 + 5 = 9 + 1 + 4 = \underline{\quad}$$

$$8 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$7 + 4 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 5 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$3 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$5 + 6 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$9 + 4 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$5 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$8 + 3 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$7 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$2 + 9 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$6 + 8 = \underline{\quad} + \underline{\quad} + \underline{\quad} = \underline{\quad}$$